
Name:_________________________ Date:___________________

Rewrite vertically and solve.

383 + 32 =

Rewrite vertically and solve.

603 – 60 =

Rewrite vertically and solve.

601 × 4 =

Rewrite vertically and solve.

522 ÷ 7 =

Find the sum.

1
48 1

47+ =

 - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - 
-

Name:_________________________ Date:___________________

Rewrite vertically and solve.

490 + 27 =

Rewrite vertically and solve.

383 – 84 =

Rewrite vertically and solve.

881 × 7 =

Rewrite vertically and solve.

276 ÷ 3 =

Find the difference.

3
58 4

51– =
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